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QUESTION 1

In a Nokia 7750 SR, which of the following QoS policies CANNOT include packet classification criteria? 

A. SAP-ingress 

B. SAP-egress 

C. Network-queue 

D. Network 

Correct Answer: B 

 

QUESTION 2

Click the exhibit button below. 
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Based on the configuration shown below, name the forwarding class to be associated with a TCP packet encapsulated
inside an Ethernet frame that arrives on SAP 1/1/5 with the following characteristics: Destination IP address =
120.110.1.1 TCP port number = 23 DSCP value = nc1 Dot1pvalue = 3 

A. H2 

B. NC 

C. L2 

D. EF 

E. H1 

F. BE 
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Correct Answer: C 

 

QUESTION 3

Which of the following parameters are used in a hierarchical scheduler-policy to specify the priority of the child
scheduler/queue for allocating bandwidth beyond its committed rate? (Choose two) 

A. CIR 

B. CIR level 

C. CIR weight 

D. Rate 

E. Level 

F. Weight 

Correct Answer: EF 

 

QUESTION 4

A queue-group template can contain both queues and policers when applied under which conditions? 

A. When applied at the port level for access ingress. 

B. When applied at the FP (Forwarding Pass) level for access ingress. 

C. When applied at the FP (Forwarding Pass) level for network ingress. 

D. When applied at the port level for network egress. 

Correct Answer: D 

 

QUESTION 5

Click the exhibit button below. Each router is interconnected by a single GigE link, as shown in the diagram below. 
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Note: The arrows show the direction of traffic flow. 

Traffic from Customer A and Customer B that is classified to the same forwarding class is queued together at the
ingress of Router B. 

A. True 

B. False 

Correct Answer: A 
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